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[U-1 1RA]

EElG AEYF BEwF
g1aa 1000 |mmmEn 2| vs |2 whEElR | 2BKR 0| vs |2 B
goate | 1990 lqammir 2 vs |1 BB | BTC 3|vs |1 ETC
ganta |10 | BamTe 1vs |1 BETC |vbsBik 3| vs [0 KB
g4 | 120 | mgmir 1| vs |2 BEEE |22TC 0| vs |1 WhETC
mouta 1240 lamEs 1| vs |0 BhEk | BiTC 2|vs |1 BETC
momta | 130 | mibmik 2| vs |0 REEK vs
w7ae 140 | mmEn 1| vs [0 MEIKR | vbEBik 2| vs |3 BB
meua | 140 | m@Te 0lvs |2 whsTC | BETC 1|vs |2 B@TC
[U-1 234]

FELE CEvYF DEYF
F1E [ 10:00~ | BEHEIR 2 |vs |2 0hEFIR (HEIGER 2 (vs |7 BILER
F2i 51040~ | RiEEKR 2 |vs |4 BREig [RBIETC 2 |vs |0 HEFETC
FIFWE [ 11:20~ | BHFTC 1 |vs |0 BEETC |[LWhETC 2| vs |0 FHEWTC
F45 A | 12:00~ | BILEIR 3 |vs |1 EEEIR |[0bhEFEIR 1| vs |0 RIEER
FESEE | 12:40~ [ HHAGER 1 |vs |7 BREig [RIETC 2 |vs |2 BETC
F6A|13:20~ | BHTC 3 |vs |0 #HWTC |[RFETC 0 [vs|2 LWhETC
F7HE|14:00~ | BFER 3 |vs |0 HIEIR |0bhEBEIR 4| vs |3 BiEIR
F8HE | 1440~ | BALEIR 3 |vs |2 =iFREIR |[RIETC 2 |vs |2 BHTC
FOHMAE | 1520~ | BEETC 0 |vs [3 Lh=ETC |[&FETC 3 |vs |3 FHMNTC




O HORH  (8A24R)
[U-1 1RE]

Eabe AEYF BEYF
gima | Y00 |mmmik 1 [vs|2 BohEk (2@EE 1 [vs |2 AETGEIR
moste | V40 |BaBik 1 |vs|s wbEBIE [BHTC 2 |vs|0 RETC
m3ute | 1020 |mmsmik 3 vs |0 £BEBIR [bsTC 2 |vs|1 BHLTC
gaga |10 lmmte 1 |vslo fETC BB 2 |vs |1 BiLER
g5a | 110 |LpeTe 1 |vs|1 BaTC |[HWBKR 0 |vs s uhEE
[U-1 284]

ok CEvF D EvF
F1RE| 9:00~ | BEFEER 0 |vs|6 BoER |[KFFR 5 |[vs|2 MHIEK
F2RE | 940~ | BibEIR 4 |vs |0 LhxER (EFTC 1 vs 1 FAMWTC
F3HE|[10:20~ | BHTC 6 |vs|1 KETC [L\HETC 1 vs |0 BJLTC
FARE | 11:00~ | BEEIR 0 |vs |0 RSB |BhBIK 3 |vs |4 BILBIE
ESRE | 11:40~ [HHIER 0 |vs |4 LhxEKR(EFETC 0 vs |2 &ETC
E6RE|12:20~ [L\h=TC 0 |vs|1 BeHTC |[BILTC 5 vs [0 FEMTC




